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10101 1 AR{S12218106 = TO%
10110 1 AR{E18212106 = ROE
10118 1 ARf=12218106 = FO=
10203 1 AR{E18212106 = =0l
10204 1 HRf=12218106 = ZlO1E
10208 1 FR{E18212106 K= ZhOE
10215 1 AR{= 12218106 = 1508
10309 1 HR{E1E218106 A = Ed0)=
10311 1 FRTE18212106 4 = 8O
10316 1 FR{E18212106 = 7L O
10318 1 FR{E18212106 = =0
10403 1 FR{E18212106 = ZoF
10405 1 ARTS12218106 = E0B
10406 1 AR{E18212106 = ZBOIE
10416 1 ARTE18212106 = 220
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10502 2 ARTS1Z218107 8= BRO&E
10510 2 ARfS1Z218107 8 E E10):-
10512 2 ARfS122181078E =018
10514 2 HRfS12218107 8= ZFORR
10602 2 HRTEIZ218107 A = 2lofs
10603 2 HR{EIE218107 A = EO%=
10604 2 HR{EIE218107 A = 5RO
10606 2 HR{EIE218107 A = o=
10607 2 HR{EIE218107 A = ##EOBN
10614 2 AR{S1Z218107 8= = O
10617 2 RRTE1E218107 A = ZBOFR
10701 2 ARTS1Z218107 8= 2I0%k
10702 2 ARTS1Z218107 8= RO
10704 2 ARfS12218107 8 E RO
10710 2 ARfS12218107 8 E WOfE




BUSAFE—SRPR2NM0EFEMERVEEENVESSRKER

R | sUS4RIR AN E BaR
10713 3 AR{E18212108 4 = BROZE
10715 3 AR{E18212108 4 = 150
10719 3 AR{E18212108H = ZFO8H)
10720 3 HR{E18212108 4 = FFOIE
10803 3 HRTE12218108 = 502
10807 3 FR{E18212108 % = =0k
10808 3 HR{E1E218108 4 = HOME
10809 3 HR{E1E218108 4 = =O%f
10815 3 ARfE1E212108 % = 1BOFx
10818 3 HR{E1E218108 4 = E 0%
10820 3 AR{E1E218108 4 = Fo=
10902 3 AR{E18212108H = BROZ
10903 3 AR{S12218108 = TOM
10905 3 AR{E18212108 4 = SROE




